1. Napište 2. a 3. stupeň přídavných jmen
	1.stupeň
	2.stupeň
	3.stupeň
	1.stupeň
	2.stupeň
	3.stupeň

	old
	
	
	popular
	
	

	dangerous
	
	
	high
	
	

	funny
	
	
	fat
	
	

	wet
	
	
	large
	
	

	bad
	
	
	good
	
	

	difficult
	
	
	easy
	
	

	big
	
	
	interesting
	
	


2. Srovnejte obrázky

BIG/SMALL
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       A                                   B                                         C

A/B – A is ……… than B

B –     B is the…………….

C –     C is the……………

B/A – B is 



                1                                                       2                                                     3

DARK/LIGHT

1-2 : 1 is…………………….

1-3 : 1 is……………………

2 : 2 is the …………………

3 : 3 is the………………….

3. Tučně vyznačené přídavné jméno použijte v druhé větě ve správném tvaru
He is 1 year old. His brother John is 8, so John is ……………

Carol is very clever girl, but Paula is …………  than Carol.

You have got a big dog, but my dog is much ………..than yours.

This building is very modern. It´s the……………building in the town.

It was a very beautiful day. It was the……………………day of this summer.

He´s very popular hockey player. He´s  the………………………..in the country

Yesterday was a very chilly day. It was the………………..day of this autumn.

Peter cooked a very tasty meal. It was the………………….meal I´ve ever eaten.

This car is very fast. It is …………………..than my car is.

4. Doplňte as or than
Ann is 25 years old. She  is older………….Susan.

I don´t play tennis as much …………you.

You eat more ………….me.

I´m more tired today……….I was yesterday.

Joe isn´n as clever …………..he thinks.

Strawberries are  smaller ……………..apples.

Paul isn´t as handsome………….Pete.

I can´t stay  longer……………two hours.

4. Porovnejte šipky

A///////////////////////////////////////////////////////

B//////////////////////////

C//////////////////////////////////////////////////////////////////////////////////////

D/////////////////////////////////////////////////////////////////////////////////////

Vzor: A/B        A is longer than B

          B/ C        B is ……………………………….                       

          C/ A        C is………………………………..

          C / D       C is………………………………..

5.Doplňování  as … as
 Her face was ____ __________ ____ snow. ( white)
 Water in the lake was ____ __________ ____ coffee.(warm) 

 This silver ring is not ____ __________________ ____this gold ring is.(expensive)
 Kate is not ____ ________ ____ my sister. (pretty)
 This night is not ____ ________ ____ yesterday. (cold)
Řešení:

	1.stupeň
	2.stupeň
	3.stupeň
	1.stupeň
	2.stupeň
	3.stupeň

	old
	older
	The oldest
	popular
	more popular
	The most popular

	dangerous
	more dangerous
	The most dangerous
	high
	higher
	The higher

	funny
	funnier
	The funnier
	fat
	fatter
	The fattest

	wet
	wetter
	The wettest
	large
	larger
	The largest

	bad
	worse
	The worst
	good
	better
	The best

	difficult
	more difficult
	The most difficult
	easy
	easier
	The easiest

	big
	bigger
	The biggest
	interesting
	more interesting
	The most interesting


2. BIG/SMALL:B is the smallest                                      DARK/LIGHT : 1 is lighter than 2

                          C is the biggest                                                                    1 is darker than 3

                          B is smaller than A                                                                2 is the darkest

                                                                                                                       3 is the lightest

3. Tučně vyznačené přídavné jméno použijte v druhé větě ve správném tvaru
VZOR: This is a nice cat. It is much nicer than my boyfriens´s cat is.

He is 1 year old. His brother John is 8, so John is older.
Carol is very clever girl, but Paula is cleverer/more clever than Carol.

You have got a big dog, but my dog is much bigger.than yours.

This building is very modern. It´s the most modern building in the town.

It was a very beautiful day. It was the most beautiful day of this summer.

He´s very popular hockey player. He´s  the most popular hockey player.in the country

Yesterday was a very chilly day. It was the chilliest day of this autumn.

Peter cooked a very tasty meal. It was the tasties meal I´ve ever eaten.

This car is very fast. It is faster.than my car is.

4. Doplňte as or than
Ann is 25 years old. She  is older than.Susan.

I don´t play tennis as much as you.

You eat more than me.

I´m more tired today than I was yesterday.

Joe isn´n as clever as he thinks.

Strawberries are  smaller than apples.

Paul isn´t as handsome as Pete.

I can´t stay longer than two hours.

5. Porovnejte šipky

Vzor: A/B        A is longer than B

          B/ C        B is shorter than C                     

          C/ A        C is langer than A

          C / D       C is as long as D

6. Doplňování  as …as 
 Her face was as white as snow. 

 Water in the lake was as warm as coffee.
 This silver ring is not as expensive as this gold ring is.
 Kate is not as pretty as my sister. 

 This night is not as cold as yesterday. 
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